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1. A trapezoidal brick-lined channel (n= 0.016) must carry 270 m3s a
distance of 8 km with a head loss of 4 m. The bottom width is 9 m and has
side slopes of 1 horizontal to 1 vertical. What is the velocity (m/s)? (20%)

2. InFig. 2, L4=3700ft, D4=2 ft, and €4=0.001 ft; L»=2700 ft, D2=7 in., and
€9=0.0001 ft, L3=4700 ft, D3=21 in., and €3=0.0007 ft; and p=2.00
slugs/ft3, v=0.00004 ft3fs, P =97 psi, Zo=127it, and Zg=77 ft. For a total
flow of 27 cfs, determine flow through each pipe and the pressure at B.

(20%) 1
A 2 B
- 3
—* 7 300 mm diam 3
3. Neglecting losses, find the disbharge through the y}ehturi meter of Fig.3.
(20%)

4. For linear stress variation over the base of the dam and with the addition
that the hydrostatic uplift varies linearly from 25 m at A to zero at the toe of
the dam of Fig. 4 _

(1). locate where the resuitant crosses the base and (10%)
(2). compute the maximum and minimum compressive stresses at the base.
(10%)

5. With a body, as in Fig. 5, for uniform flow of a thin lamina of liquid plane, '
please derive the velocity distribution and the flow rate per unit width.
(20%)
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